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Question Number : 1 Question Id : 206205427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The physical & mechanical equipments attached together to make a computer are called as:

Options:
1 « Hardware

> % Software

5 % lnput devices

4 % Output devices

Question Number : 1 Question Id : 206205427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
et Fegex @ a9 & O ve @y A3 av @ Hifew AR e sTeen @ F wea 87

Options:

| v AW

zlﬁm
. x T EC]ES:R
, HEcYe e

4.

Question Number : 2 Question Id : 206205428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

RAM and ROM are the types of
Options:

, % inputdevice

- % output device

- % Processor

4 « Inemory

Question Number : 2 Question Id : 206205428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 206205429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which type of software is an operating system?
Options:

1w System software

- w Application software
5 # Programming software

4 % Access software

Question Number : 3 Question Id : 206205429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 206205430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An operating system is also called as the between the user and the computer.

Options:



1 « Interface
> % Iinterrelate
3 % interference

4 » intermediary

Question Number : 4 Question Id : 206205430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 206205431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which command is used in shell to read a line from a terminal in Unix?
Options:

1 # rline

> % loput

&,

3 o read

4 % fetch

Question Number : 5 Question Id : 206205431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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> % input
2 « read

4 u fetch

Question Number : 6 Question Id : 206205432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A light-sensitive device that converts drawings, printed text or images into digital form is called:
Options:

1 % Mouse

o o« Scanner

5 » Keyboard

4 % Laser printer

Question Number : 6 Question Id : 206205432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 206205433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following commands would yvou use to copy files from a remote Unix svstem to your local Unix svstem?

Options:
1 ® cp

> w finger



2z % telnet

4 TP

Question Number : 7 Question Id : 206205433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ® Cp

> % finger

z % telnet

4. v P

Question Number : 8 Question Id : 206205434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Unix, what is fdisk command used for?

Options:
, » Formatting a disk

- u Loading file system

5  Disk partitioning

4 % CD Drive

Question Number : 8 Question Id : 206205434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 206205435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used for manufacturing chips?

Options:
1 % Control bus

> « Semiconductor
= % Control unit

4, » Parity unit

Question Number : 9 Question Id : 206205435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 206205436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which type of devices are computer speakers or headphones?

Options:
| % Input

5 #® Input/Output

3 # Software

4 Output



Question Number : 10 Question Id : 206205436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 206205437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following has the shortest access time?

Options:
, « Cache memory

> % Secondary memory

5 » Vvirtual memory

4 % RAM

Question Number : 11 Question Id : 206205437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Question Number : 12 Question Id : 206205438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following components is a part of the first generation computer?

Options:
1 « Vacuum tubes

- u Chips
5 » Integrated circuits

4 % Transistors

Question Number : 12 Question Id : 206205438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T § F 9 O g 997 AR (FE) FTHeL FT AT g2

Options:

2.%ﬁ1‘_\q’
. « Seraies ey

Question Number : 13 Question Id : 206205439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a light pen?
Options:

, w Optical output device

-  Optical input device

- % Electronic input device

4 % Mechanical input device

Question Number : 13 Question Id : 206205439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 206205440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A byte comprises:
Options:

1 % 4 bits

> o 8 bits
=z % 16 bites

4 % 32 bites

Question Number : 14 Question Id : 206205440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 206205441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which specific command is used to make a copy of a disk in Unix?

Options:



, % cpds

5 x cydk

Question Number : 15 Question Id : 206205441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % cpds

" dd

5 % cydk

4 % cd

Question Number : 16 Question Id : 206205442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which command shows file system disk usage in Unix?

Options:
1 « du

4 % fdu

Question Number : 16 Question Id : 206205442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 206205443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The contents of information are stored in which of the following?
Options:

, ® Memory access register

5  Memory data register
- % Memory arithmetic register

4 # Memory address register

Question Number : 17 Question Id : 206205443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 206205444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used for Paste operation?

Options:
1 & Ctl+X
o o Crl+V

o 8 Chl+C



4 % Ctrl+P

Question Number : 18 Question Id : 206205444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L% Cil + X
o Ctrl + V
2% Ctrl + C

L% Ctrl + P

Question Number : 19 Question Id : 206205445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the full form of ASCII?

Options:

. w» American Scientific Code for Information Interchange

- » American Scientific Code for International Interchange
- » American Standard Code for Intelligence Interchange

i P American Standard Code for Information Interchange

Question Number : 19 Question Id : 206205445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 206205446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following stores the information in MS-Access 20077

Options:
1 « Tables

> # Queries

5 % Reports

4 % Forms

Question Number : 20 Question Id : 206205446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 21 Question Id : 206205447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the most important or powerful computer in a typical network known as?

Options:
,  Desktop

Network client

P2
®

=  Network server

.

Network station

o=
®

Question Number : 21 Question Id : 206205447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 206205448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following refers to the act of posting bulk messages to several users simultaneously by a known or
unknown source?

Options:
, w» Hacking

» » Cracking
5 « Spamming

4 w Phishing

Question Number : 22 Question Id : 206205448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 206205449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



What does ‘booting the system’ mean?
Options:

, « Loading the operating system

> % Running an application program called booting
5 » Kicking the computer

4 w Dismissing the computer

Question Number : 23 Question Id : 206205449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Taes sfEer v Far 319 22

Options:

| v A& RBw &t & w e

L« T AR & FoRET TiCerhere SO T HAr

. FOUE BN FTHRA

L

4 FOUET FEE &

Question Number : 24 Question Id : 206205450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After processing. what does data turn into?

Options:
1 « Information

- % Database
- % Programs

4 % Facts

Question Number : 24 Question Id : 206205450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 206205451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What do folders let vou do?

Options:

, « Organise files on a disk

> % Ensure that the computer starts properly

%z % Name files

4 % Create file allocation table

Question Number : 25 Question Id : 206205451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 206205452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following ways is used for printing test page?
Options:

, w By inserting special test paper



> % Through start menu in task bar

- % By pressing engine control button

4 « Through properties of printer settings

Question Number : 26 Question Id : 206205452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 206205453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a guided medium of transmission?
Options:

, = Twisted-pair cable

> % Coaxial cable
- u Fiber-optic cable

4  Atmosphere

Question Number : 27 Question Id : 206205453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 206205454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following topology is most reliable?

Options:
1 & Star

> ® R_‘lﬂg
= % DBus

4 % Tree

Question Number : 28 Question Id : 206205454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 29 Question Id : 206205455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is true of firewall in a computer network?

Options:
, % Itisan operating system of computer network

-~ u Itisaweb browsing software

- % Itis the physical boundary of network



4  ltisasystem designed to prevent unauthorised access

Question Number : 29 Question Id : 206205455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 206205456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What i1s a collection of related fields called?
Options:

1 « Record

> # File
- % Database

4 % Folder

Question Number : 30 Question Id : 206205456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 206205457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is an IP Address?
Options:

1 % Internet Process Address

> « Internet Protocol Address
= % Internet Provider Address

4 # Internet Packet Address

Question Number : 31 Question Id : 206205457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 32 Question Id : 206205458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When a file is saved for the first time,

Options:
, % acopy is automatically printed

> % file name and folder name must be the same
= % it does not need a name

i it must be given a name to identify it

Question Number : 32 Question Id : 206205458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 33 Question Id : 206205459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which of the following applications can you NOT add a comment on the text?

Options:
MS Word

®

i,

MS Excel

P2
®

=z % MS PowerPoint

4 « MS Outlook

Question Number : 33 Question Id : 206205459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 34 Question Id : 206205460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following is the first sector of data on the startup hard disk?

Options:



1 ¢ MBR
> ® POST
= % Bootcode

4 % Boot sequence

Question Number : 34 Question Id : 206205460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WIEHT 22 BT 9T 327 &7 98T T Aeaaed #§ ¥ Siaar 27
Options:

| v THERR

> R ﬁ}ﬂ.@a’

§¢ ®Is

3 %

Question Number : 35 Question Id : 206205461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When starting a web browser, what is the first web page that gets loaded in the browser?
Options:

, % Userweb page

-~ u First web page
5 % Deginning page

4 Home page

Question Number : 35 Question Id : 206205461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 206205462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of the list that stores the URLs of the web pages and links visited in the past?

Options:
1 % Link list

» w Page list

o  History list

4 % Bookmark

Question Number : 36 Question Id : 206205462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 206205463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the base of a hexadecimal number system?

Options:
1 ® 2

2_-&34
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Question Number : 37 Question Id : 206205463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1%-32
> % 4
3%-38
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Question Number : 38 Question Id : 206205464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which box can you use to locate a file if you know the file’s name or partial name?

Options:
1 # Find
> w Help

5 « Search

4 # Location

Question Number : 38 Question Id : 206205464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 39 Question Id : 206205465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A website is a collection of which of the following?

Options:
1 ® HIML

> % Graphic files

=z % Audio and video files

. Web pages

Question Number : 39 Question Id : 206205465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 40 Question Id : 206205466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which option in MS Office is used to check spelling and grammatical mistakes?

Options:
, w Auto Spellcheck

» » Grammar and Auto Spellcheck

5  Spelling and Grammar

4 u Spellcheck

Question Number : 40 Question Id : 206205466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 206205467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an application layer protocol?

Options:
i % HTTP

- R FIP
s « TCP/IP

4 % DNS

Question Number : 41 Question Id : 206205467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
F=of@a & o wiaar tasa R dieed 727 87
Options:

, ® HTTP

, » FTP
- ¢ TCP/IP

, « DNS

Question Number : 42 Question Id : 206205468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a URL (Uniform Resource Locator)?
Options:

, « Anaddress containing computer name, directory name and name of the web page.



> % A program showing information regarding world.
- u A browser for running different operating systems.

4 # Atype of awebsite.

Question Number : 42 Question Id : 206205468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I ¥R v (gAwe RaEm deeex) 4 87

Options:

__yw@wﬁmﬁé:mga:ram,aﬁa—ﬂaﬂﬂmaﬁ?éaﬁamﬂmm?[

1
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o
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Question Number : 43 Question Id : 206205469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following contains the list of related menu items?

Options:
1 % Hard drive

> « Menu
3 % DBriefcase

4 % Shortcut

Question Number : 43 Question Id : 206205469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fTafofla & 9 Fed wafa A-amsear & e gidr 87
Options:

i ® E'FE";EEH

A

i &



S_Wm
4 % ACHS

Question Number : 44 Question Id : 206205470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is displayed when all the content of an area is not visible on the screen at once?

Options:
1 « Scroll bar

> % Dragbar
- % Navigation bar

4 % Program bar

Question Number : 44 Question Id : 206205470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
== T et 1w mATA (Feew) iF whw T e A ¢ & eeRiEm # w #e s e

FIAT §7
Options:

| v TPl 8]
3_& mmm

4 ®% FIEH SR

Question Number : 45 Question Id : 206205471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following appears when you right-click on an object?

Options:
1 % Address bar

> « Shortcut menu

= % Scroll bar



4 % Helpmenu

Question Number : 45 Question Id : 206205471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T {1 T siestee W Use-Faw #id ¢, af Refa@a & @ #2r @ &ar 272

Options:

| % U3H AR
_ 9ff¢he A
o ~

T ® F;FTH'E'IT

4 ® %Fq-ﬁﬂr:.

Question Number : 46 Question Id : 206205472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What are the smallest and largest font sizes available under the Font Size tool on the formatting toolbar?

Options:
1 « 8and 72

> % 8 and 64
3 % 12and 72

4 » None of the given options

Question Number : 46 Question Id : 206205472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HIHTET TR H Fled WES T & FATd TIH BT i TIW 937 Gleg WSS T 872
Options:

L v 8TF 72

. % 8 T 64
s % 12 TF 72

, x THET H & I AL



Question Number : 47 Question Id : 206205473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Auto-Correct was originally designed to replace words as you type.

Options:
, w shortand repetitive

> w grammatically incorrect

o mis-spelt

4 # mnot defined

Question Number : 47 Question Id : 206205473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HTEI-hiaFe Held: HTTH ST <39 fohe 71w Gl FF TEod & o B=rsa fRar T g

Options:

| = DI, QAT T

- % TUTEIOT Fr e | Tord
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Question Number : 48 Question Id : 206205474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which function is used to return the remainder after a number is divided by a divisor in EXCEL?

Options:
. % ROUND ()

, x FACT()

- v MOD ()

. % DIV()

Question Number : 48 Question Id : 206205474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Tade & T gear i Rier (R o Renfeg @ & g 9wne O & BT St @ s gdier
fosoT =rar B2
Options:

. % ROUND ()
, « FACT ()
. » MOD ()

o BIV()

Question Number : 49 Question Id : 206205475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following protocols is used to send email?

Options:
. % HTTP

> % TCP/P
=z B FIP

4 « SMTP

Question Number : 49 Question Id : 206205475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A9 &9 7 e # ¥ Fi9 @1 SEwe 9w g g2

Options:

, % HTTP
> % TCP/IP
- % FTP

4 v SMTP

Question Number : 50 Question Id : 206205476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used by search engines to crawl web data and store them in local repository?

Options:



| Spider
> % Browser
= % Scheduler

4 % Dispatcher

Question Number : 50 Question Id : 206205476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
fFaET & § s 399 o9 559 230 3% 3 1§ S9A HT e §EE 8 3 BN A &

Options:

1. ¥ SRR

o #% SIS

AT

o %

4_&%

Question Number : 51 Question Id : 206205477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file starts the MS Word application?

Options:
1 # Word.exe

> « Winword.exe
= % MSword.exe

4 ® Word2003.exe

Question Number : 51 Question Id : 206205477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hid W B TATH 5 YT FLAT 87

Options:
1 % Word.exe



- « Winword.exe
= # MSword.exe

4 # Word 2003.exe

Question Number : 52 Question Id : 206205478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the octal equivalent of the binary number (101001100),?

Options:
;% (515)s
o v (514)

5 % (504)g

4 % (415)

Question Number : 52 Question Id : 206205478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IS4 &7 (101001100)5 T e THEFET FAT gI?

Options:

, % (515)g

, » (514)g

5« (504)s

4 % (415)8

READING COMPFREEHERMSTONM

Section Id : 20620573
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Pand: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 20620573
Question Shuffling Allowed : Yes

Question Id : 206205479 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t0 57)
Cuesticon Label | Comprehension

Read the passage given below and answer the questions that
follow by marking the most appropriate option out of the four
given after each question.

Plant trees to save the earth.
Trees are the lungs of mother earth.
Trees are green gold.

We often come across such slogans. However, little do we know
that trees and shrubs not only purify the air but also reduce noise
pollution.

The planting of popular trees. like casuarinas, tamarind, banyan
and neem. appears to provide a possible way of reducing noise
pollution in towns. According to a study by a team of doctors and
technicians at the Institute of Oto-Reino-Laryngology in Madras
Medical College. these trees and certain other shrubs strongly
reduce sound levels. particularly the din produced by the
continuous bustle of automobiles.

As part of a project of the Science and Technology Department of
the Central Government. the Institute conducted investigations
into the effect of noise pollution on workers in four cities of Tamil
Nadu and Kerala. It was found that the exposure of these persons
to traffic noise resulted in a considerable loss of hearing capacity
over a period of time. The study of trees and shrubs being able to
reduce noise was an offshoot of this project.

Trees and shrubs appear to act as good noise prevention screens.
even though they cannot eliminate the noise completely. The
green leaves actively absorb noise and the reduction may also be
due to the physical blocking of sound waves by the stem and the
bark. Perhaps it is because of this capacity that neem trees were
traditionally planted in front yards of residences. tamarind trees
on roadsides and banyan trees in temples.

Sub questions

Question Number : 53 Question Id : 206205480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

As part of a project of the Central Government,
investigations into the effect of noise pollution
were conducted on:
Options:

1 #% Students

> % Children
= « Workers

4 % Old people

Question Number : 54 Question Id : 206205481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the facts given in the passage. what
is the effect of noise pollution?
Options:
, « Lossof hearing

- % Premature ageing

- u Hypertension

4 # Slowing down of responses

Question Number : 55 Question Id : 206205482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Trees and shrubs can:
Options:

. Provide some relief to the deaf.

-  Reduce hearing loss.

- % Restore hearing loss.

PN Eliminate noise pollution completely.

Question Number : 56 Question Id : 206205483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Which of the following is the theme of the
passage?

Options:

, w Financial gains from trees.

> % Medicinal value of trees.
= % Decorative value of trees.

4  Role of trees in the prevention of noise pollution.

Question Number : 57 Question Id : 206205484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the traditional reason
behind plantation of neem trees, tamarind trees
and banyan trees?

Options:
Physically block sound waves by the stem and the
1 « bark

> % Make the streets look attractive
3 % Medicinal values

4 % 1o promote forestry

Question Id : 206205479 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension
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Sub questions

Question Number : 53 Question Id : 206205480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g GIFR A T IEAT & 997 & &7 H, eI
SEWUT & FHTEr Hr A= Fr g o
Options:

L et gt

Question Number : 54 Question Id : 206205481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e # o 7 T & 3R, w3 wgue
FT TF FaT &7

Options:

| v ST

o % mq;é JalaEAT JHATeT

= % 3= {&FdHM

4 ® m}ﬁ'ﬂiﬂmﬁﬁm

Question Number : 55 Question Id : 206205482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FaT 3R SR

Options:
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5 Sfoar T FHET FH Fd g



. » STORET & T@ FA &

, « ST FENUT T € F FATA B §

Question Number : 56 Question Id : 206205483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 206205484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A7, sHeT 3R TEE F FaA F AU T F TS

URFIF FT [ Aged 9 # O 47 87

Options:

e 3R o gErr e3f® g &
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COUANTITATIVE AFTITULE

Section Id : 20620574
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 6



Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 20620574
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 206205485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IfA:B=2:- B:C==:
2 3 4

|

andc::D=§ :% .then (4A +3D):(8A — 5D)=

Options:
-8 23

[
|

- o 47 :50

Question Number : 58 Question Id : 206205485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afEA:B=5; :1,B:C=; :1 #C:D=1:2 A (4A+3D):(8A— 5D) =
Options:

, % 23 27

. » 47 : 50

s » 47 : 23

4% 23:17

Question Number : 59 Question Id : 206205486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IfP(A)= 0.5, P(B) = 0.3, and A and B are mutually exclusive events, then the probability of neither A nor B is:

Options:
1 ® 0.15

o o 0.2



s % 025

4 B 0.8

Question Number : 59 Question Id : 206205486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR PA) =05 PB) =032 T AT B WP #0020 &, 3 T 87 A 3T 7 &7 B & oiidear &

Options:

, % 0.15

2 % 0.25

Question Number : 60 Question Id : 206205487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will come in place of the question mark (?) in the following question?

Options:
;% 2314

> % 233.6

i 2316

Question Number : 60 Question Id : 206205487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fA=fofT g 7§ e fea (2) & ®s W 3T A
578 &T 15% + 644 =1 22.5% = ?

Options:

. % 2314

. % 233.6

s % 231.8
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Question Number : 61 Question Id : 206205488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A sphere mmal & hernisphere have the same surface area. The mtio of the volimme of the sphere to that of the hemnisphere 1s:

Options:
;% 3V3:8

2 ® 9:2V3
3 % 3V3:2

4 9143

Question Number : 61 Question Id : 206205488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T ey AT TF IS F ST AT THEA gl el HT e & HATA H IFT g
Options:
;% 3V3:8

2 ® 9:2V3
5 % 3v3:2

4 9143

Question Number : 62 Question Id : 206205489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A number series is given below, which contains one wrong number. Identify that wrong number.

-

Lh

,3.5,0.5, 15.5,41.25, 126.75,447.125
Options:
1 ® 2

Lh



Question Number : 62 Question Id : 206205489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A T T g@en & % & omE ve T e ¥ 39 e §EAT T 94T S|
25 35.65. 1585 4125 12675 447 125

Options:

, % 155

Question Number : 63 Question Id : 206205490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o G TS A NG
The value of — g
J244v34+/2-43

Options:
1 ® 1

Question Number : 63 Question Id : 206205490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
V7 +2/6+/7-2V6
J2+ B +l2-3

Options:

FT A &

1.%-31



GEMERAL MENTAL ABILITY AND REASONING

Section Id : 20620575

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20620575
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 206205491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is related to the third term in the same way as the second term is related to the first term.

Radical : Moderate :

Options:
1 # Reformation

5 « Evolution
= % Chaos

4 % Change

: Revolution : ?

Question Number : 64 Question Id : 206205491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

30 BFeT & 90 F4 F A9 92 ¥ 3 9N ¥ mEE §, 59 990 g5 9% 9 9% ¥ FErnd g
wEradr . FrEedr - w2

Options:

1 ® 2

S A LCCor
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Question Number : 65 Question Id : 206205492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.
20211210272

Options:
1 ® 49

o o 32
=z W 61

4 B 08

Question Number : 65 Question Id : 206205492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

30 BFeT & TR & F A0 9 ¥ 3 9N ¥ mEd §, 39 990 anT 9T Y 9E ¥ wEnd gl

ot 1 ity i MR | B A
Options:

Question Number : 66 Question Id : 206205493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that correctly explains the relationship between the two statements below.

Assertion (A): Petrol fire cannot be extinguished by pouring water over it.
Reason (R): Water is heavier than petrol.

Options:

, « Both AandR are true and R is the correct explanation of A.

- » Both A and R are true but R is not the correct explanation of A.

= % A istrue but R is false

4 % A is false but R is true.



Question Number : 66 Question Id : 206205493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » AR R S W@ E, 9T R, A &1 WEr ST ST gl
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. % A FEr g dfehad R 7o g
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Question Number : 67 Question Id : 206205494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In & certain code, *A — B’ means “A is the daughter of B';’A — B means A is the husband of B"; *A * B' means “A is
the brother of B".

Which of the following correctly explains the statement ‘P * Q + R'?

Options:
1 % P isthe brother of R.

- % P isthe uncle of R.
5  Pisthesonof R.

4 % P isthe father of R.

Question Number : 67 Question Id : 206205494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

.« P, R &7 7% 2

, « P, R &7 I 8l
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Question Number : 68 Question Id : 206205495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the maximum number of triangles in the figure?

v
i 3 /"K
e i

,
y, bt

Options:
1 ® 15

o B 16
3 o 17

g4 W 18

Question Number : 68 Question Id : 206205495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& T 3T & e Fr sfteas e e 87

Options:



Question Number : 69 Question Id : 206205496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the maximum number of triangles in the figure?

Question Number : 69 Question Id : 206205496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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4

Options:

4. ¢ 27



GEMERAL AWAREMNESS

Section Id : 20620576

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 20620576
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 206205497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What does the abbreviation ‘BCG’ in BCG vaccine stand for?
Options:

1 # Bacillus Cholera Germ

> « Bacillus Calmette Guerin
= % DBacillus Curative Gene

4 % Bacillus Cholera Guerin
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Who was affectionately known as the “Grand Old Man of India™?



Options:
, w» Bal Gangadhar Tilak

- « Dadabhai Naoroji

- » Gopal Krishna Gokhale

4 % Mahatma Gandhi
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Which award is given for excellence in sports in India?

Options:
, w» Jamnalal Bajaj Award

> of Arjuna Award
5 » lagore Award

4 # Moortidevi Award
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Who broke Pete Sampras’s record of winning the maximum Grand Slams in tennis?

Options:
1 % Rafael Nadal

-  Roger Federer
- » Andy Roddick

4 = Novak Djokovic
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Which of the following water body separates Andaman and Nicobar Islands?
Options:

. The Ten Degree Channel



- % The Palk Strait
% # The Gulf of Mannar

, w Adam's Bridge
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Correct: 1 Wrong: O
Which is the agency engaged by the Government of India to grade and standardise various agricultural products?

Options:

, » Food Corporation of India

-  Directorate of Marketing and Inspection

= % DBureau of Indian Standards

, w Central Statistical Organisation
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Question Number : 76 Question Id : 206205503 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
wornens history is valuable all twelve months of the yvear. Wormen have overcome daunting odds to succead
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.

Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words:. Yes

Allow Back Space: Yes

Show Back Space Count: Yes

Actual



Group Number : 3

Group Id: 20620554
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 0

English Typirg Test

Section Id : 20620578

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20620578
Question Shuffling Allowed : No
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The Information Technology & Information Technology Enabled Services, also referred to as [T-1Tes is a sector
which has been skyrocketed in the last few years. The role of IT sector cannot be underestimated when it
Cormnes to improving the shape of Indian business standards. Many business processes including business
process outsourcing (BPO), online services, software management, consultancies and software developrent
are a part of this sector. As per an article published in The Times of India, the IT industry has played a crucial
role in spreading the awareness of the Indias liberalization ameong people and telling them how important it is
for their future. Dating back to 19905, an export of approximately § 100 million with around 5,000 employees
had been noticed. Howeser, with the passing time, things in the sector hawve been improved. And, as a result,
the countrys IT exports are now touching the numbers of $70 billion with the involvement of 2.8 million
employess. MNational Association of Software and Services Companies (MASSCOM), also knowr as the Indias
software industry body, says that the Indias IT sector is expected to witness the growth at a rate of 12-14%
during the time period 2016-2017, With this resualt, it would not be wrong to say that Indias 1T industry has
now evolved as one of the fastest emerging markets and very S0011 rmany more requirements in the field of
software, hardware and other [T services can be expected to rise. The continued improvernent in the domestic
IT sector, conducive business environment, operational excellence, creation of urban infrastructure and
abundant talent are the five major factors which actually decide the Indias position in the global offshore IT
industry. There could be no denying to this fact that the global market and sustenance of its growth are the
most crucial factors which have influenced the [T industry to a great extent. The [T comumunity in the country
has also witnessed some downfall due to the recession in the United States. The employment the computer and
IT industry generates is seen as one of the biggest benefits. Export and Foreign Direct Investments are other
crucial benefits. The presence of new markets in the South and South East Asia, Eastern Europe, Africa and
Middle East has been noticed in the recent tirmes. Many big countries across the globe consider India as a hub
for IT outsourcing solutions. A wide nurmber of job opportunities in the field have been produced and helped
many people to gain advantage of serving the IT sector with their skills and knowledge. Experts say that the
country has created a solid platform to overtake the USA when it comes to hiring a good number of software
dewvelopers in the Corming year.
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